

1  $y'' - y' - 2y = 3e^{2t}$

$$r^2 - r - 2 = (r-2)(r+1) = 0 \Rightarrow r = 2, -1$$

$$\therefore y_h(t) = c_1 e^{2t} + c_2 e^{-t}$$

2 is a root of order 1. Thus,  $y_p(t) = A t e^{2t}$

$$y_p' = A e^{2t} + 2A t e^{2t} = A e^{2t}(1+2t)$$

$$y_p'' = 2A e^{2t}(1+2t) + 2A e^{2t} = 4A e^{2t} + 4A t e^{2t}$$

$$L[y_p] = 4A e^{2t} + 4A t e^{2t} - (1+2t)A e^{2t} - 2A t e^{2t}$$

$$t e^{2t}: 4A - 2A - 2A = 0$$

$$e^{2t}: 4A - A = 3A = 3 \Rightarrow A = 1$$

$$\therefore y_p(t) = t e^{2t}$$

$$y = c_1 e^{2t} + c_2 e^{-t} + t e^{2t}$$

2,  $y''' - 2y'' + y' - 2y = 3t \cos t + 5 + t^3 e^{2t}$

$$r^3 - 2r^2 + r - 2 = (r^2 + 1)(r - 2) = 0 \Rightarrow r = \pm i, 2$$

$$\therefore y_h(t) = c_1 \cos t + c_2 \sin t + c_3 e^{2t}$$

$\pm i$  are roots of order 1. Thus,

$$y_{p1}(t) = t(A t + B) \cos t + t(C t + \overset{D}{0}) \sin t$$

0 is not a root. Thus,  $y_{p2}(t) = E$

2 is a root of order 1. Thus,  $y_{p3}(t) = t(F t^3 + G t^2 + H t + I) e^{2t}$

$$\therefore y_p(t) = t(A t + B) \cos t + t(C t + D) \sin t + E + t(F t^3 + G t^2 + H t + I) e^{2t}$$

(2)

$$3. \quad y'' + x^3 y' + x^2 y = 0$$

a.  $x^3, x^2$  are analytic everywhere. Thus, 0 is an ordinary point and  
 b. power series solutions in  $x$  thus converge everywhere, i.e.,  $R = \infty$

$$\text{Let } y = \sum_{n=0}^{\infty} a_n x^n$$

$$L[y] = \sum_{n=2}^{\infty} a_n n(n-1) x^{n-2} + \sum_{n=1}^{\infty} a_n n x^{n+2} + \sum_{n=0}^{\infty} a_n x^{n+2}$$

let  $n \rightarrow n+4$  in the first series, then

$$L[y] = \sum_{n=-2}^{\infty} a_{n+4} (n+4)(n+3) x^{n+2} + \sum_{n=1}^{\infty} a_n n x^{n+2} + \sum_{n=0}^{\infty} a_n x^{n+2} = 0$$

Equate coeffs. to 0. Let  $a_0 = 1, a_1 = 0$

$$x^0: a_2 \cdot 2 \cdot 1 = 0 \Rightarrow a_2 = 0$$

$$x^1: a_3 \cdot 3 \cdot 2 = 0 \Rightarrow a_3 = 0$$

$$x^2: a_4 \cdot 4 \cdot 3 + a_0 = 0 \Rightarrow a_4 = \frac{-1}{4 \cdot 3}$$

For  $n \geq 1$ ,

$$x^{n+2}: a_{n+4} (n+4)(n+3) + a_n [n+1] = 0$$

$$a_{n+4} = \frac{-a_n (n+1)}{(n+4)(n+3)}$$

$$a_5 = \frac{-a_1 \cdot 2}{5 \cdot 4} = 0, a_9 = \frac{-a_5 \cdot 6}{9 \cdot 8} = 0 \text{ We see } a_{4n+1} = 0, n \geq 0$$

$$a_6 = \frac{-a_2 \cdot 3}{6 \cdot 5} = 0, a_{10} = \frac{-a_6 \cdot 7}{10 \cdot 9} = 0. \text{ We see } a_{4n+2} = 0, n \geq 0$$

$$a_7 = \frac{-a_3 \cdot 4}{7 \cdot 6} = 0, a_{11} = 0, \dots, a_{4n+3} = 0$$

$$a_8 = \frac{-a_4 \cdot 5}{8 \cdot 7} = \frac{1 \cdot 5}{8 \cdot 7 \cdot 4 \cdot 3}, a_{12} = \frac{-a_8 \cdot 9}{12 \cdot 11} = \frac{+1 \cdot 5 \cdot 9}{4 \cdot 8 \cdot 12 \cdot 3 \cdot 7 \cdot 11}$$

In general,

$$a_{4n} = \frac{(-1)^n 1 \cdot 5 \dots (4n-3)}{4 \cdot 8 \dots 4n \cdot 3 \cdot 7 \dots (4n-1)}, n \geq 1$$

Thus,

$$y_1(x) = 1 + \sum_{n=1}^{\infty} \frac{(-1)^n x^{4n} (1 \cdot 5 \dots (4n-3))}{4^n n! 3 \cdot 7 \dots (4n-1)}$$

Let  $a_0 = 0, a_1 = 1$ . By same calculation as above,  $a_2 = a_3 = 0$

(3)

Now

$$x^2: a_4 \cdot 4 \cdot 3 + a_0 = 12a_4 + 0 = 0 \Rightarrow a_4 = 0$$

$$a_5 = \frac{-a_1 \cdot 2}{5 \cdot 4} = -\frac{2}{5 \cdot 4}$$

$$a_6 = \frac{-a_2 \cdot 3}{6 \cdot 5} = 0 \therefore a_{4n+2} = 0$$

$$a_7 = \frac{-a_3 \cdot 4}{7 \cdot 6} = 0 \therefore a_{4n+3} = 0$$

$$a_8 = \frac{-a_4 \cdot 5}{8 \cdot 7} = 0 \therefore a_{4n} = 0$$

$$a_9 = \frac{-a_5 \cdot 6}{9 \cdot 8} = \frac{2 \cdot 6}{4 \cdot 8 \cdot 5 \cdot 9}$$

$$a_{13} = \frac{-a_9 \cdot 10}{13 \cdot 12} = \frac{-2 \cdot 6 \cdot 10}{4 \cdot 8 \cdot 12 \cdot 5 \cdot 9 \cdot 13}$$

In general

$$a_{4n+1} = \frac{(-1)^n 2 \cdot 6 \cdots (4n-2)}{4 \cdot 8 \cdots 4n \cdot 5 \cdot 9 \cdots (4n+1)}, n \geq 1.$$

$$\therefore y_2(x) = x + \sum_{n=1}^{\infty} \frac{(-1)^n x^{4n+1} 2 \cdot 6 \cdots (4n-2)}{4^n n! 5 \cdot 9 \cdots (4n+1)}$$

$$4. \quad x^2(x-1)y'' - xy' + 2y = 0$$

$$a. \quad y' - \frac{1}{x(x-1)}y' + \frac{2}{x^2(x-1)}y = 0$$

$$x p(x) = -\frac{1}{x-1}, \quad x^2 q(x) = \frac{2}{x-1} \quad \text{Both analytic at } x=0.$$

Thus 0 is a regular singular point.

$$(x-1)p(x) = -\frac{1}{x}, \quad (x-1)^2 q(x) = \frac{2(x-1)}{x^2} \quad \text{Both analytic at } x=1$$

Thus, 1 is a regular singular pt.

b. 1 is the nearest singular pt. to 0. Thus, series solutions around  $x=0$  converge at least for  $|x| < 1$ .

$$c. \quad r(r-1) + r - 2 = r^2 - 2 = 0 \Rightarrow r = \pm \sqrt{2} \quad \text{indicial roots}$$

$$d. \quad \text{Let } y = \sum_{n=0}^{\infty} a_n x^{n+r}$$

$$\begin{aligned} L[y] &= \sum_{n=0}^{\infty} a_n (n+r)(n+r-1) x^{n+r+1} - \sum_{n=0}^{\infty} a_n (n+r)(n+r-1) x^{n+r} \\ &\quad - \sum_{n=0}^{\infty} a_n (n+r) x^{n+r} + 2 \sum_{n=0}^{\infty} a_n x^{n+r} \\ &= \sum_{n=1}^{\infty} a_{n-1} (n+r-1)(n+r-2) x^{n+r} \\ &\quad - \sum_{n=0}^{\infty} a_n [(n+r)(n+r-1) + (n+r) - 2] x^{n+r} = 0 \end{aligned}$$

~~Let  $n=1$ . Recall  $a_0 = 1$ . Thus,~~

$$~~(r)(r-1) - a_1 [(r+1)r + (r+1) - 2] = 0~~$$

$$a_{n-1} (n+r-1)(n+r-2) = a_n [(n+r)^2 - 2]$$

$$\text{or } a_n = \frac{a_{n-1} (n+r-1)(n+r-2)}{(n+r)^2 - 2}, \quad n \geq 1$$

$$\text{For } n=0, \quad a_0 [r(r-1) + r - 2] = a_0 [r^2 - 2] = 0$$

$$\therefore r = \pm \sqrt{2}$$